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I = (w® +u® 4+ —2u+1)

* 1 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(@w?4+u?2+... —2u+1)

(i) Arc colorings

= (3)

0
a? = u

1
a; = U2

u?+1
a3 = u4

—u
ag = U

—u3
ag = ud 4+ u
w? +2u” +3ub +2u +u
a9 = \u" + 09+ 2" +uS +ud+u
—ul® — 31 — 71?2 — 10010 — 1108 — 8ub —4ut + 1
g = \ —y8 — 216 — 5y — 6u'? — Tul0 — 6ud — 4ub — 2ut — 2
—ud —ub —ut 41
a11 = \ 48 + 2u8 + 2ut + 2u?
wl® + 2013 + 4ot + 44 + 207 — 20 — 2u
a5 = \ —y!® — 3y — 6ult —9u? — 8u” — 6u® — 2ud + u
u?? +3u? + - —2u% + 1

10 = \ —u22 — 420 + - 4 20t + 302

u?? +3u? + - —2u% + 1
a0 = \ —u?? — 402 4 .-+ 2u* + 3u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?! — 4u?° — 120! — 12u*® — 36u'7 — 32u!6 — 60u'® — 52ul* —
88ul? — 64ut? — 88ult — 60u® — 68u” — 32u® — 28u” — 4uS + 12u + 16u> + 16u? + 4u + 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq uPB w4+ —2u+1
Co,C7 uB 4+ TuP 4+ +8u—1
C3,C4,Cs u23+u22+”.74u2+1
€8, C9, C10
ci1 u? — 5u?? 4 -+ — 136u + 39




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, Co yE Ty 4 8y — 1
2, Cr y? +19y%2 4. 4+ 116y — 1
€3,C4,C5 y23f33y22+"'+89*1
€8, C9, C10
c11 y® —13y*2 + .- + 17092y — 1521




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.227985 4 0.97122171

2.66448 — 2.760321

9.49755 + 4.448071

u = —0.227985 — 0.97122171

2.66448 4 2.760321

9.49755 — 4.448071

u = —0.731982 4 0.7841071

3.25860 — 0.023271

13.38062 — 2.155201

u = —0.731982 — 0.7841071

3.25860 + 0.023271

13.38062 + 2.155201

u= 0.268514 4 1.0491101

13.20350 + 3.301651

10.15005 — 3.376331

= 0.268514 —1.0491101

13.20350 — 3.301651

10.15005 + 3.376331

u=0.078829 + 0.8939801

1.87270 + 1.233341

3.38642 — 5.876521

= 0.078829 — 0.8939801

—1.87270 — 1.233341

3.38642 4 5.876521

= 0.683177+ 0.8730711

1.27817 + 2.634391

7.17328 — 2.593441

u= 0.683177 —0.8730711

1.27817 — 2.634391

7.17328 4 2.593441

= 0.815519 + 0.7532901

9.35127 — 1.671041

15.7595 + 0.78361

u = 0.815519 — 0.7532901

9.35127 4 1.671041

15.7595 — 0.78361

u = —0.862702 4 0.7461751

—18.8163 + 2.55431

15.9877 — 0.14901

u = —0.862702 — 0.7461751

—18.8163 — 2.55431

15.9877 + 0.14901

u = —0.714154 + 0.9393461

2.78784 — 5.500131

11.6998 + 7.94571

u = —0.714154 — 0.9393461

2.78784 4 5.500131

11.6998 — 7.94571

u= 0.749494 + 0.9816411

8.65288 4 7.542511

14.3885 — 6.03431

u = 0.749494 — 0.9816411

8.65288 — 7.542511

14.3885 + 6.03431

u = —0.769773 4+ 1.0067501

—19.6232 — 8.62881

14.6907 + 4.99491

u = —0.769773 — 1.0067501

—19.6232 + 8.62881

14.6907 — 4.99491

u= 0.723840 16.6303 16.0670
u = —0.612110 5.70319 16.3480
u= 0.310396 0.571551 17.3560




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, C6 uB uP 4+ - 2utl
C2,C7 uB 4+ TuP 4 4+ 8u—1
C3,C4,C5 u23+u22_~_”._4u2_~_1
C8,C9,C10
i u?® —5u 4 -+ — 136u + 39




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Ce yP Ty 8y — 1
2,7 yB 4192 + -+ 116y — 1
C3,C4,C5 y23—33y22+---+8y—1
C8,C9,C10
11 y?3 —13y%2 + - + 17092y — 1521




